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def averaging():

n=int)input(*':slae! slaxs"))

S=»

m=float(input(" .S 5,151, L 5, 50 5u"))

S=s+m

for i in range(n):
avg=s/n
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def mycircle(r):
a=Yy \Frrer
print(a)
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n=float(input())

mycircle(n)
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def myrectangle()
x=int(input(":J 4-"))

y=int(input(": 2 ,="))
mA=Y*(x+y)
myY=x*y
print(my,my)

.M}%myrectangle() Q)}‘A‘.‘)GU(’U“:“"“‘g_gél{oTLS‘J’."6‘}:’3@'})’14‘.35)‘365})}43&};@‘5



il 5 a5 g0 piin S8 Corln 5 Jame 4 8 2 QLRSI L oS ST (b 5 D g e S 1 oS

\.

Y.

Y.

e
Jeazes
ol

i

.;r;zuw,ﬂ‘cugg;\@fﬁ&\j..gg



